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Entry 3 Reading
Module: Method statements
Module Aims

Main aim
We are learning to read a range of workplace information for detail.

Other learning aims
We are: working out the meaning of words from the way they are used in the text; learning to locate information in diagrams.
Module: Method statements
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Task 1

The words used in written information at work can be quite difficult. Some of the words in this text are underlined because you may not know what they mean. 
There are other words that mean the same thing. Tick the box  (  that means the same as the new words. The first one has been done for you.

	a written text   
	means the same as
	(
a process

	
	
	(
a document

	
	
	(
a hazard

	
	
	(
a method


	might happen 
	means the same as
	(
safely

	
	
	(
control

	
	
	(
possible

	
	
	(
method


	steps you take 
to do a job
	means the same as
	(
process

	
	
	(
control

	
	
	(
statement

	
	
	(
hazard


	restraint
	means the same as

	(
risk

	
	
	(
control

	
	
	(
hazard

	
	
	(
activity


	a danger
	means the same as

	(
an activity

	
	
	(
a control

	
	
	(
a process

	
	
	(
a hazard


	come from
	means the same as
	(
carried out

	
	
	(
includes

	
	
	(
arise

	
	
	(
shows









Read this case study.



Task 2: Demolishing a farm building


Sometimes, you can work out the meaning of a word from the way it is used in a sentence.  See if you can work out the meaning of the underlined words from the way they have been used in the text. Underline the word or words that mean the same.
A farmer was prosecuted after an accident where an employee fell through a roof skylight onto a concrete floor.

	tried in court
	arrested by police
	sent to prison


The workers decided how they were going to demolish the building themselves.

	put together
	tear down
	make safe


He suffered multiple fractures and head injuries.

	many
	a few
	one


There was not a method statement or other plan to ensure the work could be carried out safely.

	make safe
	make sure
	make easy


They did not give any thought about how to prevent falls and no precautions were taken.

	assist
	stop
	report


Say whether the statements below are right, wrong or you can’t tell.
	
	true
	false
	can’t tell

	One of the workers fell through a skylight.
	
	
	

	A worker had to stay in hospital for a very long time.
	
	
	

	The farmer was cleared of the charges.
	
	
	

	The farmer provided a method statement to the workers.
	
	
	

	They had a meeting before they started the demolition work.
	
	
	

	Workers can walk across roofing sheets.
	
	
	

	The farmer had to pay towards the cost of the prosecution.
	
	
	


Accidents in the construction industry


Read this text.

The Health and Safety Executive (HSE) works hard to make working conditions safer for all people, both at work and in society. It reports on accidents in the workplace.  The graph below shows the number of accidents that have happened to people working in construction over a ten-year period.

Number of major injuries to employees in Construction by kind of accident, 1996/97 – 2005/06(p)


Source: The Health and Safety Executive
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Task 3
Answer the questions by getting the information from the graph.

	1 
	What kind of accident had the least number of casualties over all the years?

	
	

	2 
	What is the trend for the number of people injured while handling, lifting or carrying? Are the numbers getting higher or lower?

	
	

	3.
	What kind if accident had the most casualties during 2000/01?

	
	

	4. 
	During 2005/06, a different kind of accident had the highest number of casualties than in previous years. What kind of accident was it?

	
	

	5. 
	How many people were injured by a moving object during 2003/04?

	
	


How did you get on?

Module: Method statements answers

Task 1

	a written text   
	means the same as
	(
a process

	
	
	(
a document

	
	
	(
a hazard

	
	
	(
a method


	might happen 
	means the same as
	(
safely

	
	
	(
control

	
	
	(
possible

	
	
	(
method


	steps you take 
to do a job
	means the same as
	(
process

	
	
	(
control

	
	
	(
statement

	
	
	(
hazard


	restraint
	means the same as

	(
risk

	
	
	(
control

	
	
	(
hazard

	
	
	(
activity


	a danger
	means the same as

	(
an activity

	
	
	(
a control

	
	
	(
a process

	
	
	(
a hazard


	come from
	means the same as
	(
carried out

	
	
	(
includes

	
	
	(
arise

	
	
	(
shows
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Task 2: answers
A farmer was prosecuted after an accident to an employee who fell through a roof skylight onto a concrete floor.
	tried in court
	arrested by police
	sent to prison


The workers decided how they were going to demolish the building themselves.

	put together
	tear down
	make safe


He suffered multiple fractures and head injuries.

	many
	a few
	one


There was not a method statement or other plan to ensure the work could be carried out safely.

	make safe
	make sure
	make easy


They did not give any thought about how to prevent falls and no precautions were taken.

	assist
	stop
	report


	
	true
	false
	can’t tell

	One of the workers fell through a skylight.
	(
	
	

	A worker had to stay in hospital for a very long time.
	
	
	(

	The farmer was cleared of the charges.
	
	(
	

	The farmer provided a method statement to the workers.
	
	(
	

	They had a meeting before they started the demolition work.
	
	
	(

	Workers can walk across roofing sheets.
	
	(
	

	The farmer had to pay towards the cost of the prosecution.
	(
	
	


Task 3: answers

Your answers might look like this.

	1 
	What kind of accident had the least number of casualties over all the years?

	
	People being struck by a moving vehicle.

	2 
	What is the trend for the number of people injured while handling, lifting or carrying? Are the numbers getting higher or lower?

	
	It is getting higher.

	3.
	What kind if accident had the most casualties during 2000/01?

	
	People falling from a height.

	4. 
	During 2005/06, a different kind of accident had the highest number of casualties than in previous years. What kind of accident was it?

	
	Slips, trips or falls on the same level.

	5. 
	How many people were injured by a moving object during 2003/04?

	
	600




















































































































Summary





A farmer was prosecuted after an accident where an employee fell through a roof skylight onto a concrete floor.





Two employees were taking down a farm building. As one of the workers walked across the roof, he fell through a skylight to the concrete floor. He suffered multiple fractures and head injuries.





The farmer had left the employees to themselves to plan the work on the building. There was not a method statement or other plan to ensure the work could be carried out safely. The workers decided how they were going to demolish the building themselves. They did not give any thought about how to prevent falls and no precautions were taken. To get to the ridge the workers had to walk close to unprotected, fragile skylights. No safety netting or other methods to prevent falls were used.





Action





The director of the farming business was prosecuted under the Work at Heights Regulations 2005. He pleaded guilty and was fined £2,000 on each charge. He was ordered to pay £842.40 towards the cost of bringing the prosecution.





Advice





All work on roofs is high risk. All workers should be trained in safe working practices. A risk assessment should be carried out for all roofing jobs. A written method statement should be prepared to show how the job will be carried out safely. This should help to ensure that all workers understand exactly what they have to do. It is important to ensure that all workers are adequately supervised. 





All workers must be protected against falls whenever they work on or near fragile roofing materials. Suitable protection will normally include a combination of coverings, guardrails, safety nets and safety harnesses. Walking across roof sheets or purlins should never be allowed.




































































































































































Remember





Should be and should help are used in this text to show obligation.





An obligation is a moral or legal duty to do something. In this text, it says:





All workers should be trained in safe working practices.





This means that all workers in construction must be trained in safe working practices.
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A method statement is a document that shows how a particular process or task is carried out. It shows how construction work can be done safely. It includes details of the company, site address and activity. Also, it shows the possible  hazards or risks that might arise from carrying out the task. The statement shows the methods of control that are in place. The methods of control show how the work will be managed safely.





































































































































































































Remember





When you read:


...the possible risks that might arise from carrying out the task...





might     is used to show possibility 





For instance:


If it is sunny tomorrow, I might go to the park.


If you do not wear a hard hat, you might hurt your head.





























Vocabulary


most = highest number


least = lowest number


casualty = person who is injured


casualties = people who are injured
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